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1.

In one of the Maxwell’s relations dS uals :
oP)r &4

(A) (B%T)\, B ‘(a%v)s © _(a%'r)p (D) [a%:f)v

Cuosen@ed Agriysafid @emprar (B%P]T QeraumLaaaipiled) TsHE FLib :
w )y ® ) © ) o Tl

Which of the following are the substitutes for pressure and concentration to explain the
behaviour of real gas and non-ideal solution :

(A) activity coefficient and activity

(B) activity and fugacity

(C) fugacity and activity coefficient

(D) fugacity and activity

Quéy arysser LHYL FuUays sersdlar URTUSaND Si(pssh WwHmID
sLielpEfiu uHSL @ Clemnsger : '

(A) Qeflay Eamad wHYL Ceplay

(B) Gedley wHmd LTy

(© Gwsrély wppo Asfle) Gasn

(D) Usrélg whpd Qadley

Jonic strength of 0.2 molal BaCl, is :

(A) w=04 B 0.8 © 06 (D) 0.2
02 Cioreoré Guilun @Gerreyigen Sjwel e :
(A) p=04 (B) 0.8 © 06 (D) 0.2

The root mean square velocity of H, molecule at 273 K is :

(A) 1840 ms™! (B) 1842ms~!  (C) 840ms™! (D) 1840 ms™!
amanL_iq jegen gpeisaflen syrefl auiés aped Sevs Gaustd 273 K Qauliuflevande :
(A) 1840 ms™! @) 1842ms~!  (C) 840 ms™! (D) 1840 ms™!
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Which of the following equation is obtained by the replacement of universal constants like
R,mk hand N ? ’

(A) Stokes-Einstein

(B) Sackur-Tetrode equation
(C) Stark Einstein equation
(D) Stokes equation

Geraumd  swerur@saia ahs Ewenuriyd Qurgaurear wrdldisarrer
R mk hopgd N g $&8 Qupiu@dns?

(A) GoLméeh-gmeeiie
(B) &damir - ALLGyr(® swearun(
(©) evLmié - gemeviest swaTLTE

(D) evGLréev swarT(

Which of the following pair used to prepare Ziegler Natta catalyst ?

(A) ELAI+TICL  (B) EvAI+TiCl, (C) E4A4TiCl, (D) EtAl+Ti al,
Epsan ebg Qevanr gSiani BULT ellevar wéflenw swmlést vweTuRAmg?
(&) BLALTICL  (B) EGAl+TiCl; (€) EtAI+TiCl, (D) E4AI+T o/

Which one of the following statements on ferrocene is incorrect ?

(A) Ferrocene is diamagnetic

(B) Dipolemoment is zero

(C) Obtained when CsH; and reduced iron heated at 300°C

(D) Synthesised from CsHs MgBr and FeCly

QuiGrréeen LnHMw EPpsaaL smpmsaia oIS Seumreang)?

(A) QuirGyréenr enLwir ShS Seneniowjen g

(B) e CureGwriogry. Lighuith

(© GH; wimid @@&SsLILLL Bmwe 300°C & GOUGS5LCUTE 2 mardpg).
(D) CsH; MgBr wpmiid FeCl; Qaenpg Quniiu@dns.

{ Turn Over
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8.

10.

11.

12,

If half life period is 100 years, average life is nearly :
(A) 70 years (B) 90 years (C) 100 years (D) 144 years
Sy pultsreow 100 Qu(HLBIEET eraled, FyTefl SLUET THHMEN GU(HLIBIEET ?

(A) 70 upLriisar (B) 90 aumLmsar (C) 100 qu(pL g (D) 144 QU(HLTBISET

For H;PO; 3'P NMR spectrum shows a :

(AY¥ Quartet (B) Quintet (C) Doublet (D) Singlet
H,PO; epevéssadlen 31p NMR fipeble emssatlen craTamnEms

(A) pren® (B) 63 © Qe (D) @

Which among the following microstates are possible for Cr** ion ?

(A) 45 ®) 120 (©) 180 (D) 240
Pt swalse Spssam_aipfld sTsSuionar pe Hevasdr arssmen?
(A) 45 ® 120 (©) 180 (D) 240

Who wrote “The God of Small Things’ ?
(A) Arundhati Roy (B) Salman Rushdie
(C) RXK. Narayanan . (D) KR. Narayanan

“The God of Small Things’ erén mredlen AR : |
&) =@psrmi (B) sdwman (Hels
() <=1.Cs. prymuemTer (D) Gs.gyff. HryTLIGHTEN

When sodium chloride is added to water, the solution boils :
(A) exactly at 100°C (B) above 100°C

(C) below 100°C (D) at0°C

Gemguib GGarmar® (2-LiSlenan) Bfle Caiid@io Gungl, samyaadian Qarfblena :
(A) &flurs 100°C (B) 100°C efl iflsid ’
(€ 100°C eflL Gemey (D) eflwrs 0°C

SVE, MKU
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NH 7 Connects :

(A) Delhi to Kanyakumari

(B) Kashmir to Kanyakumari

(C) Agra to Kanyakumari

(D) Varanasi to Kanyakumari

NH7 Genaumeuaraipenn Qaoanssng :
(A) Qe wppd seraflurgof

B) sregSi LHHD sareflurEof

(C) sy wHmD sareflur@Lof

(D) aurgenrdl wHYID SeafiunEwf

The youngest nominee for the nobel peace prize who popularly known for women'’s education
rights :

(A) Nur-ul-fatima (B) Malala

(C) Yasmin (D) Nur-ul-faritha

Gprusd s@wd uffipsrs Bls Geand awded ulpgiemrssiulL Guam saafl
o fepossrs SMlutiu@Guaelr

(A) BIf - 26~ UTsHor (B) weram

(C) wreviblen ) HiT-2-6-eUflgm

The East India Company of England got permission to trade in India during the period of :
(A) Shahjahan (B) Jahangir (C) Bahadur Shah (D) Aurangzeb
oyife dpsdiu sbdueall wrmeLL L HS srosded @pHureia cuemilsnd
Qawiyib 2 fAepwenwis QUDHDE?

(A) QgTESTEN (B) manrm&i (Q) usHIT awr (D) g@eryhsE

When excess of sodium is burnt in chlorine we get

(A) blue NaCl (B) yellow NaCl
(C) white NaCl (D) green NaCl
sflstuqurar Cergusms GlamilgyL e afs@weurg, BL&E oL Lugl
(A) Bofp NaCl ®) wesesT Hp NaCl
(©) Qeauagmaninly NaCl (D) udens Hlm NaCl
SVK. MKU { Turn Over
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17. - Which one of the following is not p-type non-stoichiometric semiconductors ?
(A) FeO | (B) Cu,O (C) NiO (D) Cds
SipssereupPled ergl p - auems eflgramopm & sL58 @ome?
(A) FeO (B) Cu,O (C) NiO (D) Cds

e p——

18. Ruby laser is obtained when some aluminium ions of AlLO; are replaced by :
Ay cot (B) V2* (C) Mn2* (D) |

l
|
!

®9 Gast, ALO; @ fla sgifiafub swaismar SpssarL ahs el
GLorpyeusTd 2 meurdng ? |
(A) Cr?t ®) Vvt (©) Mn2t (D). . Erat |

19. Ferromagnetism of metals is lost at
(A) Critical temperature : |

(B) Curie temperature

(C) Transition temperature

(D) Eutectic temperature

s Garsmser Spssar. ahs Calufmauie QuiGyr &sThsH SeTemwe Ll

@ adlammen?

(A) Heowry Qeliuglena

®) Ayf Qaiufleme

© @uipdwe Hemewrhn Qautiughlane
(D) pOYIBHS Qeutiuflea

20. Which one of the following effects is shown by super conductors ?

\ (A) Meissner (B) Trans (C) Cotton (D)  Polar
| o #5 sLsHsalla Spssan_ abs elwena) sramluHEng?
(A) QuuigerT (B) igrmemen) (Q) ' &L (D) peara

SVK, MKU
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The Learning of a particular task facilitates subsequent learning of another task is called :
(A) Negative transfer of learning (B) Zero transfer of learning
(C) “ Positive transfer of learning (D) None of the above
2@ GHUALL Cume sppg Yeatarm wpGprm Came sHusHE o gellurs
Qmuug) eréeurn SipsstiuRdng?
(A) erdloenm SHME LIHHLD (B) g sHmed rHmd
(C) Cplle wrer sHme LIHPL (D) e eTgIQD @dena

Theory of hierarchical of human needs is proposed by :
(A) Morgan (B) Murry
(C) Atkinson (D)¢ Abraham Maslow

(A) writsan ®) @ity

isener 2 wiiblenay Ly Camurirs o (heursdlweui

(C) =L emever (D) =lpsmbd wrevGer

Which is not defence mechanisms ?

(A) Rationalization (B) Compensation

(C) Projection .(D) Conflict

SDETUL BLSMS IOOTSF| 6157

(A) smreRTd SHHI9SSHE (B) @ Ceuso

(©) umsQsfga (D) wearGurFTLLLb

Which of the following is not a biological factor of personality ?
(A) Physique (B) Intelligence

(C) Nervous system (D) Chemique
Bandle g sepmoiiern 2 WABWLS sryed sida

(A) 2L @ &nibs LTS (B) miewrantley

(C) ByDY e (D) Ceaudll QurgpL_ser

SVK, MKU
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25:

26.

27.

%)

The formula used to arrive 1Q1s:
el wwnted AP
e 8

M.A o CA

—— %100 - —~_'x 100

(A) (B) M.A

(@] M.AxC.Ax100 (D) M.A x C.A—100

mananile) ey sabAGD &BHTD ergl?

; 2 s
(A)! —@M % 100 (B) EM % 100 r
8512@) GuIml LOGETEL WL MB] .

(C) aTegl X SIS X 100 (D) wereuLglX Sreellig) —-100

Which of the following is aromatic ?

(A) cyclopentadienyl cation

® [2] annulene

(C) cyclopentadienyl anion

(D) cyclopentadiene

1Geneu(mUeIDDIET TS SCrmor_igé Sarenw Gsrarg?
(A) euemermi QuairL_renLenenenad GBiT =jwief

B) [12] Sigieden

(C)f euemarit Quear_TenLaeeand erdi e

(D) euémeTl QLIGHTL_TEnL_euest

Which of the following undergo electrophilic substitution more readily ?

(A) Nitrobenzene (B) Furan

(C) Pyridine (D) Tropylium cation

(Qéreu(mLIGIDDIET CTS) cravdL_pren seui UG eflaarail B& crafisns SHD?

(A) apLGrrQuender (B) <olQluLymen

(©) \Qfigemr () LQprudefiub Copi i

SVK, MKU
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r 28.  Mono nitration of aniline in strong acids give :
(A)” m-nitroaniline

(B) p-nitroaniline

(C) o-nitroaniline

(D) benzene diazonium salt

audlewn Blgbs sbasda waalealsd saldma gpon @bl Crm ghpb
QeliybCurg de_s@b Gurmer :

(A) m apl Crr siafeden

B) pean Crr efleSer

(€ o @5 Crr afeSer

(D) Quenfer e wWCsrafub 2 (i

29. The mechanism of the reaction
chlorobenzene + NaNH, _1ig-NH; | aniline is :
(A) aromatic bimolecular nucleophilic substitution

(B) aromatic unimolecular nucleophilic substitution

(C) elimination addition reaction

(D) aromatic electrophilic substitution

-

|
| @CemGrrQuenden + NaNH, _ligNH; | siafieSer eranm aflenamuQenr eflepamauifl :

(A) =Cyror4é QHepossmy smsat Lglel B ellene
. (B) =2Cymor’usé @m (pasmn smear LSS H e
(C) Bsse Csisse fenar
(D) =Cpmom iy eradyren saui LHS [ efenar
[D] SVK, MKU
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30.  Which of the following product is formed in the reaction b Ny
III ?6H5 1 &é -1(’_ -—l.‘b._-.. ""‘_“_‘:; u'_‘ — L_-..
CI'I3—(|3—'C|‘—CH3 T = B ov ,L
N L
OH OH. ; e B
e T
CoHs H e o
L]
(A), CH;~CO - C~CHj (B) CH;—C—CO-CH,
H CeHs
; Gt
(©) CH;—C-CO-CeHis () H-C-—C-CH,
CH, O CH;
Gameumio eflenamifley erss eflanar Gummer Heni_deio
H CeHs ot
CHy-C-C-CHy ——%
OH OH
CeHls H
(A) CHz—CO- C—CH; (8) CHy—C-CO-CH,
H CeHs
Irf G
(©) CH;~C—CO-CyH (D). H-C—C-CH,
CHs O CH;,

31. The General order of solubility of halides in liquid ammonia is -
(A) I">Br~>F~ (B) I">F~>Br~ (C) F->Br >I- (D) Br~>F~>I-
glreu oCuraflwrede Epsam anre@@sdr saorud Smer asflens :
(A) I">Br=>F~ (B)} I~ >F >Br- (© F >Br >I- (D) Br— >F->I- |

32.  Ammonium chloride in liquid ammonia will act as afan:
(A) acid (B) base (C) salt (D) double salt
drau CGuwrefwureder oCoraflwib @Garrenyy 6t QewDLBL Semanio -

(A) sdend (B) &myib (©) 2.1y (D) @ries 21y

@ SVK, MK
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Bond order in CQ is -
(A) 2 (B) 25 (© 15 (D)” 3
CO & Ylevamiiny eremr :
(A) 2 B 25 © 1.5 (D) 3

According to band theory of bonding, conduction occurs in very good conductors because -
(A) Valence band is full

(B) Valence band and conduction band overlap

(C) Band gap is appreciable

(D) Band gap is small

ULl é Aerdrensufeniiy, paoe SLSEID AunmeT sLggiaisharer sryamib, :
(A) Qeandmer UL enL By o erarsy

(B) @@amfiper UL wHMb SLBFID Ul CuonQummis BEC)(0)7: )

© uleoL QoL Qaell eidsid

(D) uLeL Qe Qaall Gwpay

Which one of the following defect increases the dielectric constant of the material ?

(A) + Frenkel (B) Schottky

(C) Both (A) and (B) (D) None of the above

SDBETL aTHEs G@pUTL e U stusatlar @mler wear el siflsfsfpg) ?
(A) SQureaTQae (B) evLrsdl

© (A wpyis> B) @) gD Qoma

Aryl halides are less reactive towards Sy reactions as compared to alkyl halides due to :
(A) formation of more stable carbocation

(B) resonance stabilization

(C) long carbon - halogen bond

(D) cannot be predicted

2@eae DanemaemL oflL, siemrd Capma® Gugieirs SmHBUT USHLH elaner
yfleuspsrer sryemrid :

(A) <@ifls flevaliys searebuemLw s Grmblen sjwsef 2 (HeUTEG S

(B). 2 Laflerse) Blenartis SETenLD

© <=fs ferd Qasram@arer sriLen -Gapeger Devanriiy

(D) &p Quierg

SVK. MKI
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37. In the given reaction, ‘X’ is

Cl

Cl CH,0H
1 equivalcnﬁ' X
g °Cl

al = OCH,4 OCH; cl
l Cl -~-OCH
(- C:[ ® C:[ © C:[ (D) C/I :
OCH,4 al OCH, cl

&9 srapid efevarude X oTg ?
Cl

€l CcH,0H
(L e
(1 equivalent)
&Nl
cl 2 OCH, OCH, Cl
cl a OCH
@) ::[ ®) (:( © C:F (©) C{ t
OCH3 Cl OCI"I3 Cl

38.  Dehydrobromination is in the order for the following compounds :

Br Br
i Br M ></\
@ (1) ()

@) m>m>m @ @>ms> M © @m>a>amn (D) (Im) > (1) > (1)
Epsranib Ceiromiseiler HBr Bés edemanfer, clearCass auflens erg)?

Br Br
AT, e B
@ (II) (1)

(A) @m>am>m @B O>@m>am (g (> >@ () @>a>am)

39.  Cope reaction is used in the preparation of :

(A) alkene (B) alkyne (C) alcohol (D) aldehyde

Carls eflemen erang surfluughe, vwenuRdpg) ?

(A) peden (B)  ydesan © dsapred (D) 2 Dig man ()
Bl SVK, MKU
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40.  Which is the major product in the following reaction ?

CHz ~CH — CH = CH, + HBr —X (major) ‘X" is :

CHj
(4) CH;—CH - CH-CH; (8) H;C—CH — CH,—CH,~ Br
CH; Br CH,
lj;lr
(©) CH; —(IZ — CH,CH;, (D) None is correct
CH,

Epsranid ellenanda, 2ifls Sjereller Aumid eenerc Cummar ergy ?
CH3—ICH —CH=CH, + HBr —X (28l siaredler) X’ eremLig)

CH;
(A) CI'I3—ICH—(|:[‘I‘—CH3 (B) HsC—ICH—Cﬁz—CHz—BI
CH; Br CH;,
]?r
(©) CH3—(IZ — CH,yCHj (D) ergiayd &M @dvenaw
CHj,4

41.  The electron affinity of the following elements can be arranged :
(A) C1>0>C>N (B) CI>0>N>C
(€©) d>N>C>0 (D) d>Cc>0>N
Spssa_ safloiisafen erast rrer BILL s ereuaumpy) auflesliu@ssend ?
(A) A>0>C>N (B) CA>0>N>C
(© a>N>C>0 (D) A>C>0>N

42.  Which of the following species has lowest ionisation potential ?

(A) O (B) O, ©) O,F (D) Oy~
S _ainhled @emneurar SwelluréE euhna Qarem g erg)?
(A) O B) O, Bed5), 1 O (D) 0,~

SVK. MKU
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43.

44,

45.

www.kalvisolai.com

The polarity in H—X bond is in the following order :
(A) HF > HBr>HClL>HI (B) HF>HCl>HBr > HI
(C) HF>HI>HCl > HBr (D) HF > HBr > HI > HCl

bpssar_apile H-X Goaridad wifs paare) Qsram senenouded sflwimer
auffleng :

(A) HF >HBr > HCl > HI (B) HF>HCI>HBr > HI
(C) HF >HI > HCl > HBr (D) HEF >HBr > HI > HCl

Choose the correct order of bond energies in the following series :

(A) C=0>0=0>C-0 (B) €=0=€c—0>0=0

(©) C€-0>0=0>C=0 (D) 0=0>C-0>C=0
Spsan_eupdled eflurar GeanmiiLy oy bnd aflemsows CoibOs@aseab :
(A) C=0>0=0>C-0 (B) ‘{€=@3C-0>0=0

() C-0>0=0>C=0 (D) 0=0>C-0>C=0

Which of the following favours high lattice energy in ionic compounds ?
(A) Small ion, low charge

(B)  Small ion, high charge

e m s, ..l ———— . s —— -

(C) Large ion, high charge

(D) Large ion, low charge

9iFls Lgs pnewes Qsrar. Lgs CefiomisEnée srsswrar Hubsman arg)?
(A) ddlw ewef, Gapaurer Weasemio
B) Adw swe, s Wersenin

©) Quiiu swef, <ids Basamw

(D) Guflu ewed, Gepeurar Wesamio

SVK, MKI
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46. What minimum tube voltage would be required to excite the Ky and Ly series of lines for
uranium ?
(A) 3.59 and no line , (B) 674 and 9.67
(C) 15and 175 (D) 112 and 17.2

47.

48.

Gemeumeuareundled eBs m§u|_| wCralugdo Ky wppid Ly auflengudies Sarireym
2 gayb GODHS Waewss LI HGD?

(A) 359 wppb CerPaaidme (B) 674 wHMD 9.67

(©) 15 whmid 1.75 (D) 112 wHmb 17.2

Which of the following solvents have maximum eluting power ?
(A) water (B) acetone
(C) chloroform (D) methanol

Spssan_aupdle abs soTUT@EEs s INssLLED samio o erarg?
(A) B (B) H_CLmeir
(© @ECarmGrrumid (D) Qugdd 2LosaNTwD

The potential corresponding to half the eurrent in the polarogram is called as :
(A) one fourth of the potential

(B) half-wave potential

(C) one and half potential

(D) limiting potential

GurCarCrrdymie urdwerey WeCam L HDES GaTLiymL Waarpsswo
reueury DPsaELLHEDng ?

(A) prendld @ WLkE Wenea(pssn
(B) 0T - DD (PSSO

(C) cem WHNID Sy Wlemanpssid

(D) s_EUUESSIULL eTan(pssL0

SVK., MKU
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49. In the nuclear reaction g cl'n — }P + X whatis X ?

(A) yrays (@) H+ © _Je D) e

2L6@® oflevar n — Ip 4 x, x GTGILIG| eTemman?

(A) v-&8i ® H* (@ e ®) O

50. The emission of y-rays results :
(A) decrease in energy of the nucleus
(B) increase in atomic number of nucleus
(C) decrease in charge of nucleus
(D) decrease in atomic number of nucleus

¥- 88T 2 18lpaured THURD WrHob

(A) 2 Lemefler emne G@pdng

(B) e Lsmellen <jgmyiere <iflsflsdpg
(©) e lsmeflen Wearsanio G@ndlng
(D) e Lsmedlen Sigierent Geopdng)

51.  The third Indian National Congress (1887) Conference was held in :

(A) Delhi (B) Bombay (C) Chennai (D) Calcutta
tpamprais @b Caflu sridyan (1887) peoLQuim @Lib -
(A) QLéed (B) wbum ((1“) Qestrenen (D) sdsssT

52. Who is popularly known as “Gangaikonda Cho}I‘an" ?
(A) Paranthaka I
(B) Rajaraja I
(©) Rajaraja I
(D) Rajendra I
“Shiens QlsmeTL Gamipen ara SMPESLILIRILIGT
(A) wserd urThss Gamiperr
(B) @serbd Qrrrre Cemper
Q) Qrewr_mb Qrrerrg Cempen
D) wsomd QrrGmndy Gamipenr 1

SVK, MKI
D]




www.kalvisolai.com

%

17 13PG-05

Who won the Man of the Series title in 2013 ICC Champions trophy Cricket league ?

(A) MS. Dhoni (B) Virat Kohli

(C) Shikhar Dhawan ' (D) Ravindra Jadeja

2013 ICC embQwer Cariienu ANsQasc. Asmflé Qi prusen eflmg Qupmeur
(A) MS. Cgrafl (B) &g Gared

(©)- eflaT sourer (D) geindy BCLsor

The article which provides special status to the state Jammu and Kashmir :
(A) Article 340 (B) Article 360 (©) Article 370 (D) Article 390

RUep-aregbi wiSwsSHE Aviy sibsevs) <ieNieh oiriiu sreengdlen Gflay:
(A) Y9fley 340 (B) Gflay 360 (C©) fey 370 (D) Wifley 390

NCTE stands for :

(A) National Council for Technical Education
(B) National Centre for Teacher Education
(C) National Council for Teacher Education
. (D) National Centre for Technical Education
NCTE eremuig

(A) National Council for Technical Education
(B) National Centre for Teacher Education
(C¥ National Council for Teacher Education
(D) National Centre for Technical Education

56. Increase in temperature and pH changes of protein causes :
(A) peptide formation (B)  thermal decomposition
(©)  polymerisation (D) denaturation

HCrmie emaser GTENTENGLDE (GTHL_6hT allanaryfluyibGLirg GeuiuBlenar wpmy pH LDTHMLD

TpUBSGIe :
(4) GuieL® 2 mersd (B) Qeutiugsmre SevgeuenL g
Q) ueugLTsD D) g Créararge
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57,

58.

59.

The mean jonic activity coefficient of a 0.1 molal uni-univalent electrolyte in water at 25°C
is:

(A) 0.755 (B) 7.55 (© 0.0755 (D) 755

@peon- @neop @oardpear Qsrar, Wdrige brésemreailen Qafley 0.1 Gorema
25°C Qautiufleveouder @ser syref Qadley GETSIDTEIS)

(A) 0.755 (B) 7.55 (C) 0.0755 (D) 75.5

The standard reduction potentials for the reactions

Sn?* +2e~— Sn,

Sn*t +2e¢~— Sn2+

are :

(A) 0136 V and —0.15V (B) —0.136V and 0.15V
(C) 136V and 1.5V (D) 13.6 V and 0.015V
Spssarm_ deoasailear AL pR&s SI(WPSSHISET

Sn2+ +2e~— Sn,

Sntt +2e~ 5 5p2+

panGu :
(A) 0.136 V wpmib —0.15V (B) —0.136V wpmib 0.15V
(©) 136V wpmid 1.5V (D) 13.6 V whmib 0.015V

The polarisation for nonpolar molecules like H,, Oy, CHy etc. is :
(A) directly proportional to temperature

(B) independent of temperature

(C) dependent of temperature alone

(D) inversely proportional to temperature

Pp@aeupD epwsammisarter Hy, O, CH, <dweuhdler (PeneTamse :
(4) Gatuflewwydr Grrelds Qsmiy

B) Galuflewvou QuInsss e

(©) Geuiy Hlerwarws wLEb QuTnSss)

(D) Geutin Fleneouyein erflieldls Qgmiry

SVK, MKU
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Langmuir Isotherm explains :
(A) Absorption (B) Emission (C) Adsorption (D) Transition

riblwfler gCarsin aﬁlmégmgj :

(A) eflgasd  (B) Qaueleli@sd (C) . urasD (D) Heswrpptd

developed his theory of identical elements to explain transfer of learning.
(A) Pavlov (B) Guthire (©) Woodworth (D) Thorndike

raTuall SPmE WLIHDSS e Gﬁimé,@sug,,rj}as-rra; R555 samsafen
Cariur_genen o @peursderri.

(A) ureuCGormeys  (B) @semswit () eyleuis (D) sriemenL&

involves higher order cognition in the interpretation of sensory information.
(A) Ilusion (B) Perception
(C) Sensation (D) Hallucination

L& 2 auriie S&eUsEr6E eflardsid S(meuglad Cubul L oflsaiées
2 LB élmg).

A) Sflysar.8 (B) yevensr &
(©) yever 2 emrivey (D) QeQurmer s
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63. I Problem solving ability improves with age.

Il This improves in terms of both speed and accuracy.

"

(A) Tis correct, II is wrong (B) Tand I are wrong

(C) IIis correct, Iis wrong (D) Iand II are correct

L &8ss Stsgd Hnar g MBI eUaTTEs el ib.

I Qeueuerisdl Cousid LHDID gl Geeal Qramg @i e
(A) Teflwrear Lded 11 sauprang  (B) I wpmid I seupmen Liglay

(© Teflwurer Lde Isauprangy (D) Iwmmibd I sfwires udled

64. Trial and Error theory was given by :
(A) Ivan Paviov (B) Edward L. Thorndike ==
(C) Skinner (D) Hull
wen seul Csrerenseni eupmBIEweur
(A) @euren ureuGeame (B): erleuii’ eréd. giremeni s

(©) evdlarani (D) ané

65. Ebbinghaus experiment is related to :
(A) Curve of memory (B)  Curve of forgetting
(C) Curve of learning (D) None of the above
erfmsredler Gargeaner THDULGT GBI e Wwg?
(A) Blewawey euevaray (B) Lo cumerey

(C) sdHpd cueeray (D) Qaeu ergiaip BQeanay

SVK., MKI1
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66. Which of the following is not asymmetric compound ?

67.

(A) H,C CH=C=C (CHy), (B) H,C CH=C=CH CH,
NO, NO, Br COOH
. "
HOOC COOH I B
I

Epsam_aupbler erg Eremwwdy Semanto Sjooarg Gemob?

(A) H;C CH=C=C (CHj), (B) H,C CH=C=CH CH,

NO, NO,

(©) (D)

HOOC COOH

Conformation of decalins are

(A) Cis - decalin

(B) Trans-decalin

(C) Cis and Trans decalins

(D) Cis-Cis decalins

ALésadaflen auigel eus BienioliL &6

(A) m uss CLsseSen

(B) wrmuss GLsseder

©). @ Lss LHID wLIMUEsS QLsseSarser

(D) @@ U&s - @ Lss QLssdearsar

13PG-05

[SVK. MKU




www.kalvisolai.com

13PG-05 22

68. Which of the following conformation of cyclohexane is the most stable ?
(A) * Chair form (B) Boat form
(€) Half-Chair form (D) Twist-boat form

auener GansCeaflns enaumeuaraupiler WBaaib Blevaig gerenoujent_w GUlg Gl
QUF DIEMOLIL| 6Tg)?

(A) BrpaETed Gulgeulh (B) uUL® aigeud
Q) undl prpsred eugeutd (D) mssiulL ULE aigaild

69. In the given reaction, product ‘A’ is :

Me
H+OH af0r A
Et
Me Et
(A) H—i—vCI ®) H+O
Et Me
Me Me
© a—'—H (D) HO —'—m
Et = Et
Spsremid sleanie, efleavert Qurgper A wirg ?
Me
H+0H 00 , 4
Et
Me Et
(A) 1—1—‘\0 (B) H+G
Et Me
Me Me
© «a H (D) HO ~’~c1
Et Et

(D] SVK, MKU
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70. Which of the following compounds will be least reactive to S;\, reaction :

I - Br ¢l
@) @ ®) [j © [j D) Q
1

ﬁg'pésir@m Geiomselle) erg Si, efenar Qugieurs eflenar Lflyb?

I Br Cl
(A) @ ®) fj © Cj (D) Q

1
71. Conflict between two negative goals is :
(A) Avoidance - Avoidance (B) Awvoidance - Approach
(C) Approach - Approach (D) None of the above
@ran(@® erdlflenwirer Qas@sEnmL G weariGuTyTiL b
A) fee - Ao (B) el - iEmE
© WG - DG (D) @aa argiaid Giee

72. The Goal of Educational Innovation is :
(A) Positive Change in Learning
(B) Negative Change in Learning
(C) Never Change in Learning
(D) Both (A) and (B)
soelll Lglemwuller @hlsGararrang) :
(A) sppailer Blens wIHPSMS 2 (HauTEEGaUS
(B) &ppeiled Gem WLTHNSMS 2 (HeUTEHGeus]
(Q) sppele ehBs WIHNS®SLDL FHUBSSTSSI
@) (@) wppd B) @renGid
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73.  Which Ashram presents “Ideal of Human Unity” 2
(A) Ramakrishna Mission (B) Vivekananda Ashram
(C) Sri Aurobindo Ashram (D) Gandhiji Ashram

74.

75.

76.

www.kalvisolai.com

THS Ao “walls enmenCu 2WITeUTENg) creniens Sy lueilsfmg?
(A) @rmodlmeyert L b (B) Causranhsi < fron
© b <welbst < fmon (D) smpdwigser <o

Who first advocated that “Women are equal to men” in Education ?
(A) Vivekanandar (B) Rousseau

(©) Gandhiji (D) Dayananda Saraswati

seiludle <y amise Qe sob” TR FHEDS (PSEIPSEID Srdudisseur :

(4) Ceusrearpsi (B) mGer

©) smpdugser (D) swrenps syaveud) gl i

The preamble of the Indian constitution describes one of the principles as follows :

(A) Equality (B) Monarchi

(C) Differentiate (D) Isolation

BB Sirflwed s L eenioriGer wpsuyeyuiley elleufasiie Car’_ur@sefa
o) -

(A) swsgeud (B) <iflary semenio

©) Caupu@Bsssao (D) sallenoiiv@Bgesd

What is the wave length of electron wave determined by Davisson and Germer experiment ?

(A) 165 A (B) 0.165 A () 165 A (D) 1654
CLefflee wmmid Qe uflGergenamnie sa 0 9is 55 crasL e siemeulen siena
BersHlen whiiy eremar?

(A) 165 A (B) 0165 A ©) 165 A (D) 165 A

SVK, MKI
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How many degenerate energy state present in E=9 h2/8 m[.2 ?
(A) 9 (B) 8 © 6 (D) 3
E=9h*/8 mL? eremp dme wi_t sHaierer swblena LHH@D TES@an?

(A) 9 B) 8 S 6 (D) 3

Which one is quantum mechanical operator to x-component of kinetic energy (79 ?

-h? 3 h =h? . L3 -h? 5
S B A e 7 v v
@A) 8 =°m an> (®) 27 © T (D) 8 mm

8 m’m
¥ - @ewl QuEs SLDDNESTE GeUTaRTL D QésraNssd Qswe ereara?

_hz 2 h _h2 2 _hZ

2
Viw (D) W

8 m°m on> 2 8 m’m 8 7°m

What is the angular momentum value if 1=1 and m= -1 ?

2 [ﬁ)yz e ® —(ﬁ]% sin.ei ¢
£ (4_3«)% ¥ (D) (f’ﬂ% sin@

=1 pmid m=—1 Carar_ Carenr 2 basdler 1L eremer ?
i (8_3:)% A (B) -[%)% sing.e! ¢
©) [—_W)l/z .cosh (D) (%J 2

SVK, MKU
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80. Which one is Hamiltonian operator for a helium atom by perturbation method ?
=0 o
A) ———— B
(A) P TS e (B)
- h? 62 62 —e? —e? 42
T 4 —Eo ==k e
(O o (Yt Ve L o1 (©)

81.

_h2
S0 ao2 B
& 87°m dn? (B)
he 1oz a2] - —& 4e2
© Bl VAV = e (D)
Furil  KOH >
G e ) ®
Jy €00~
OH

2 2coo- '

i U‘C/Q (B)

Wo0-

citric acid

OH

CgH:),C<
(5 5)2 \COO_

A M8 <fleoid
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Curtius rearrangement is :
(A) RCON, —2, isocyanate —H:0 , RNH,
(B) RCOOH +HN,_ 504 (RNH,+CO,+N,

0
[
(© R-C-NHOH—2 ,RNH,

(D) Hydrazobenzene —H2504 . benzidine
STLIgUIGY PPEISSM DDOLIL| OTHDD GTETLIF ] :
(A) RCON, —2 sGsmewGen _H:0 | RNH,
(B) RCOOH +HN,;_t250:  RNH,+CO,+N,

O
(C) R- !Ji —NHOH—-———>RNH

(D) an CrrGsr Quander —1250s | GQuendligean

o naphthyl allyl ether _202_%
(A) 4-allyl-1-naphthol (B) 2-allyl-1-naphthol
(C) 1-allyl-2-naphthol (D) 8-allyl-1-naphthol

o BTUIMSD DD FSST _Z_Q'_i_c_,, ?

(A) 4-Simee-1-prugre (B)‘ 2-3jeneed-1-Brigmed
©O) l-sieee-2-Brusrea (D) 8-y@mae-1- BriSTed

Trans-3, 4-dimethylcyclobutene 4 _, ?

(A) cis, cis-2, 4—hexadiene

(B) cis, trans-2, 4-hexadiene

(C) trans, trans-2, 4-hexadiene

(D) mixture of the cis, cis and trans, trans-2, 4-hexadiene

Lyrenen -3, 4- al_Qngdled cuanemu Ay teer 4, ?
(A) S, flev -2, 4- Qandevrent_ e

(B)« Hlav, Lyrenen-2, 4-Qamésmen e

(Q) Lymemeh, Lyreten-2, 4-Clandssren. e

(D) &lev, flev WHEYID Lgraney, Lyremey -2, 4- Qanssra e swamal

13PG-05
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85.

86.

87.

Fries rearrangement is the conversion of -

(A) phenyl allyl ether to o-allyl phenol

(B) hydrazobenzene to benzidine

(€) 1, 2-glycols to ketone or aldehyde in the presence of acids

(D) aryl esters to 0 and p-hydroxy ketones in the presence of Lewis acids

Lepa DienLoliL| rhHmib eranLigy) 1GleimeumLb LTOHOLD ;

(A) Yevaned epeved TESOT 0- Sepawe Searrers OTHOHLD

(B) an yGsrQuerener Guenéliy 6t <48 wrHmid

© 1, 2- devarasrera b6y manL_reGeur, £ GL remrsCeour SALBlevé e
wenaflenauder wrpmin '

(D) onl sfewsder weraflamauda DD eTev_L_THemer o LOMID p- amL_jrés)
S CLrensarrs wripLd

Birch reduction of pyridine gives :
(A) 1, 2-dihydropyridine (B) 1, 4-dihydropyridine
(C) piperidine (D) 1,2 3 6-tetrahydropyridine
Sflyeer Gie @REsW QeiybCung Hevié@ib efaner Qumgper -
(A) 1, 2- v_emamt Cyir 1l eor (B) 1, 4L ewani’ Cyr Aifliger
(© YGuufger D) 1,23, 6 Quigr ewant Cyrr Qflgar
Which is the product formed in the following reaction ?

O

I
e BN

Il

O

o) o
W QLS o ML e ) o
o o

(6]
7 7 7 I
*) (E:b'j ® C(gj © : ® L
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Ea of a reaction is zero, k is equal to : (A is the frequency factor) ?
(A) zero (B) infinity € A (D) A-1

@ alenaruder Ea m@ﬁq YRWGEwammre k &t iy (A erenLig) oifliQleuar wrilad)
TEMEGE FOID?

(A) yHWD ®) wyaldanrss © A (D) A-1

For the set of reactions,

() A+B="eC @) C+B—23D, KAl [BI~K_}[C]~ky(C] [B] is equal o

(A) d[C]/dt (B) —d[A]/dt (C) d[D]/dt (D) —d[B]/dt
ﬁls&rsu@tb alenensaflen,

) A+B—2=C @) C+B—YsD, KAl [Bl=k_4(Cl~kyC] [B] erbhass stoid 7

(A) d[C]/dt (B) —d[A]/dt (© d[D]/dt (D) —d[B]/dt

Bronsted equation is :
(A) Ka=GaKa® (B) Ga=KaKa® (C) KazGaKa® (D) Ga#Ka.KaP
LiprerevL_ (5 swerur(® :

(A) Ka=GaKa® (B) Ga=KakKaP (C) KazGaKa® (D) Ga#Ka.KaP

Which among the following alkynes will give aldehyde on hydroboration oxidation
reaction ?

(A) CH;—C=C-H (B) CHy-CH,-C=C—H

#i(C) " HE=CH (D) all the three

EpsTEnb aTHE weaser, @anl_rrCurGrmn e saflnCGamn alearnder fLpauld,
@ @man( CGsrhaEn ?

(A) CH,-C=C-H (B) CH,—CH,—C=C-H

(C) HC=CH (D) manggib
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9.2. Which of the following reagent when treated with alkene gives a diol ?
(A) 0s0, (B) HIO,
(€) (CH3C00), Pb (D) All the three

93.

94,

W 0ESen)L 6 :%g;s;rr@mb GThS SMTeRfllL 6 el iime QasTRéEL?
(A)° 05O, (B) HIO,

(©) (CH3COO0), Pb (D) epaimy smyenfla@EpL gy

When an alkene reacts with peracid, the product is :
(A) alkane (B) alkyne (C) epoxide (D) ester
Quit suflodgiL e, oya&er B8O eflevers Quimmer ergy?

(A) <aCser (B)  eensen Q@ rFurémev® (D) erevLi

The most probable product in the following reaction is :

B
QB: CH,CH,0K
o R g () @ (©) @ (D) OI

Esranb eleamenide, ahg eflenarss Qummer ifls UMY e Qupembd?

O: Br ok ;
Br

SVK, MKU
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Fischer indole synthesis involves the reaction between :

(A) hydrazine and pyruvic acid

(B)  O-nitrotoluene and diethyl oxalate

(C) phenyl hydrazine and pyruvic acid

(D) O-toludine and formic acid

oot QamCé) Qzreiiy SP&ETEID erhs eNmarenid ETTHS ?
(A) ¢ @l r&eim Hmid @UmelEs Sflwss e

(B) O-anplCyri Qungnefer wppib e TEDSD psenGal FLer
(©) Cevaney eanl géar whmid oUmeilsEs Sjflewgsen

(D) O-Qurmgiean wHmbd LTTss Sibled g e

Vinyl type compounds usually undergo,
(A) chain polymerisation (B) step polymerisation
(C)  condensation polymerisation (D) * cross linked polymerisation

Qurgieurs cleand aims Cerviissr THS aUens LU UITESQIEE 2 L L[ ?
(A) smdlell LeLgwrsD (B)  Uglugurs ueugwIrgd

©) oGnss ueugurzd . (D) eadli-erdli @enawriiy LISOLIIg WITged

Which of the following functional group present in epoxy resin ?

(A) Polyester (B) Polyamide (©) Polyether (D) Polyamine
rurésl Qriefle o drer waemenio Qsr@d erg)?

(A) wmedl erevLi  (B) wred S@wh (C) urd mrei (D)  uralsyslen

At what temperature, polyvinyl chloride is prepared from acetylene and hydrochloric acid ?
(A) 250°C (B) 450°C (©) 350°C (D) 150°C

SNl gl wHm b @aw_CrrgCearrfls <jflosdao Q®ba Lred elomard
GCatrer® 2 (mHeur@Eibd Ceutiufleney ereran?

(A) 250°C (B) 450°C (©) 350°C (D) 150°C
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i

100.

101.

The reaction of ammonium chloride with BCl; at 140°C followed NaBH, give product X.
The product of X is : '

(A) ByNgH; . (B) B3N3H¢ (©)  B3N3Hp, (D) B3N, H,

<Cureflun GCarrenr® Curyrar_any @Gerranr@b 140°C & clenerfbg, e
Gemgwid CurGyr mapl ar@Lear Qomarhg SeLsEn eeaer QuTmEr X 6
eumlLium(® erewren?

(A) BaNzH4 (B) B3NzHg (©) B3N;H» (D) B3N4Hj

The molecular formula of monomeric phosphazene is :

(A) PNC1 (B) P3N,Cl, (©) PNC;, (D) PNCl,
R Lilg urrefﬁu%snﬂs&r epadsn) @Jrru'.nhﬁr@:

(A) PNCl (B) P3NzClg (C) PNCl (D) PNC,

The phase diagram for a one - component system is shown below :

C : e
A .

What are the number of degree of freedom at the points B, X and Y respectively ?
(A) 0,1and2 (B) 1,0and 2 (©) 2,0and1 (D) 0,2and 1

@ s&n Sewlidhsrar e auamruLtb eremor

@eiauampuLgde Lerefiser B, X wpmib Y pflueupblen &L igenenin eramsaner
auflensluBHEIS.

(A) 0,1TwHombd2 (B) 1L,O0wopmbd2 (C) 2, 0whHmwl1 (D) 0,2 wHmwb 1
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Mixture of water and two salts like (NH,),SO, and NH,Cl is an example for :
(A) Three component system (B) Two component system

(C) One component system (D) Zero component system

bbb @ran® e lyssetrer (NH),SO, wppib NH,Cl sops soma abs
Sewllbpsrer a@osIESTH

(A) epenm Sy SievLoli (B) @® &m s@wliy

€ 26 &y Smouy D) YW &y Siewiy

Among the following detectors which is not the common detector for HPLC ?

(A) FTIR ‘ (B) light scattering “

(C) Photoionization (D) phosphorescence

HPLC & Aenaumid erhg Gumgieurear semrdlliurerser LweaUGOSsLiL@eudoame?
(A) FTIR ®) gafeflzpa

Q) e sweflwursed (D) umrevGLTFEaTe

DTA and TGA techniques are neefal for "

(A) decomposition and oxidation

(B) reduction and hydrolysis

(C) reduction and oxidation

(D) decomposition and reduction

DTA wpmib TGA Gamllédom U apepsdr aanE Lwuau@SsLLGEDs ?
(A) fesaum g LHNID salnCapob

(B) oGssb LHYD SrTPUGLY

(©) @0&5D wHOID YseflgCanhpd ¢

(D) &engeuen g WLHNID RHESD
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105.

106.

107.

108.

The term fractional crystallinity is related with :
(A) AH and AG

(B) AE and AS

(C) AHg sample and AH; crystal

(D) AE sample and AH crystal

Geramiq 10156 SpssaT eTaaL 6 Ggmiy QsrenDarerg ?
(A) AH wpmib AG

(B) AE wpmib AS

(©)  AH; smbder wHYID AH; Ligsid

(D) AE gmbder wpmib AH Ligsib

The electrons which contribute to isomer shift in Mossabauer spectroscopy are :
(A) s-electron (B) p-electron (C) d-electron (D) felectron

wrevumui Himwreneudied wmpilw QL OTHIS@IEE STFeRTONET cravdL e org) ?

(A) s-erel_imem (B) p-erelgmenm  (C) d-ereol_gmen (D) f-eri_imenr

The molecule which is IR inactive but Raman active -
(A) HCl B) N, (C) SO, (D) Protein
SipsamL orpg Gaiob IR &e 2L UL Qpamred Jroer Bporeass o L L@ib ?

(4) HQl B N, (©) so, D) ursi

The increase in rotational energy shows, absorption spectrum in

(A) IR region (B) UV region

(C) visible region (D) microwave region

sonél YHd Sflafiinred Spsear Ths LUGSD Fipwree deLadng.
(A) IR ugd (B) UV ugé

Q) srawdsmigu LGS D) mear e LGH
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09. The frequency of UV radiation is greater than :
(A) IR (B) microwave

(C) both (A) and (B) (D) wisible region
UV sflireiédlan oifliQevan Spsan amdled croseil oifsib :
(A) IR (B) e»wsCrrGeucy

©) (A) wpgid (B) @reawr@id (D) srewésmig UGS

- Which of the following diatomic molecules will not give a rotational spectrum ?

(a) CO (B) N (€ NO (D) HF
SpésamL Qm <igm Cormisald os swndl Hnwrewamu SITHSI?
(A) CO B N, (© NO (D) HF

. Which one of the following is a complex cation ?
(A) Hexa cyano ferrate (III) ion

(B) Hexammine chromium (III) nitrate

(C) Hexa cyano ferrate (II) ion

(D) Hexachloro cobaltate (IIT) ion

Spsam_euphler Cpir Simamay Sweaf org)?

(A) OQamssr swCearm QuiGyl () ojwef

(B) OanssSer @Crmswub () eopL G

(©) Qandsr swGenm QUG (IT) owe

(D) Gamser @GerrCyr Carumed GLL (IIT) Sjwef

- The structure of [Co (NHL),]?* is
(A) Square Planar (B) Tetrahedral (C) Octahedral (D) Triangular

[Co (NH)¢JP* e iemioliny wimg;)?

(A) ger &giyib (B) mrenpd (©) era@mpd (D) w&Csrenrid
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113. The correct sequence of groups in assigning R, S - configuration in :
(A) NH,, CH,; COOH, H (B) COOH, NH,, CH,, H
(C) NH,, COOH, CH,, H (D) CH,, NH,, COOH, H
R, S - sewli@parer sflwrer Qgregd aflnsuiamear Csirbts®H
(A) NH,, CH,; COOH, H (B) COOH, NH,, CH,, H
(C) NH,, COOH, CHy, H (D) CHj NH,, COOH, H
CHj
: ; : ; .= FP EH BT
: f the chiral centres of th d ‘
114. The configuration of the centres of the given compound is a 33— .
CH,3
(A) 25, 3R (B) 28,35 (C 2R, 3R (D) 2R, 3S
CHs
i s g < g 3 5= e 1
&Gy Qer@ssiiulL msrd owwé Csingdlar simvidean sap. L~ -
CH;
(A) 25, 3R (B) 28,35 (©) 2R, 3R (D) 2R, 3S
115. Which one of the following is an ‘Z’ - isomer ?
HaC Br H,C cl
A B =z
H;C cl HC H
C . D #
@ g ©) g gy
Spsar_eupila erg ‘Z" wrHHlugms QUDDETETS? :
H;C Br' H;C a
A == G
) H’ (b ®) B, H e
v H3C ez Ha_g H U
C e D ==
ST Br ©FCR CHj +
i '
116. The MB spectra of Na, [Fe (CN), NO] complex is doublet, because of the presence of :
(A) Weak o-bond (B) Extensive o-bond
(C) Weak-m-bond (D) Extensive w-bond
Na, [Fe (CN), NO] ienenrayé Gaio MB Blpadled @yl el ensenaser Slan_&5s Sryeurid
(A) @D o- Yemanriiyy (B) WBewg o - WenawtiiL]
(©) @D -w- SaanriiL (D) WBens m- SenemriiLy

www.kalvisolai.com
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The complex ion with maximum CFSE is : |

(A) [Co (NHy)P*  (B) [Mn (HO)P* (€) [Co (CNS), 2~ (D) [Co Fel*~. 1
BipssmanTL 2maneys Cemomsaiie) ardd siflsworar Lysiiye Hamariy S DDed
2 Greng) ?

(A) [Co (NHy),P* (B) [Mn (HO)?* (€) [Co (CNS), 2~ (D) [Co g~

: Croi_ ion is intensely yellow coloured since the transition is :

(A) Spin allowed

(B) Laporte allowed

(C) Charge transfer

(D) Spin and Laporte forbidden

Crof~ ewaflufer o i WeheaT BInSEHE sTeToreT g rrendager oTg ?

(A) spné sg@ivHssiiulL g |
(B) arGuriGL sig@iwdssiurL g

(©) g psTe| o i wig

(D) &pndl wHmb OrCUTTCL. wigflésiuLTss)

3
A Jahn-Teller distortion of [Ti(HZO )6] " leads to :

(A) raise its symmetry

(B) loss of H,O ligand

(C) reduction of metal to Ti?

(D) remove an electronic degeneracy

grer - QLoair &flsaearmed [Ti(H20)6]3+c91mGWG-IE'F Geirogdled ereman wrHpLbd

Bapdlpg -

(A) &rewo gpHmLd

(B) B rrewfl @upriLy 1
Q) 2Cars phésgdame Til o meuraus

(D) s Hoe Hleoo Hésn
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120.

121.

122.

123;

124.

www.kalvisolai.com

What is the g-value for methyl radical shows ESR at 3000 Gauss in a spectrometer &
at 9.23x10° Hz ?

(A) 2.0023 (B) 2.0047 (©) 2.0069 (D) 2.0000

&(m ESR ﬂmmﬂmm'mwauﬂuﬁlé) 3000 G &mhgliLjeen wpmibd 9.23x10° Hz Sifliiay
Qaran.. Quéssde Cwgda Grysdlear flmd erGEslul Lo g6 g i
GreiTeu?

(A) 2.0023 (B) 2.0047 (C) 2.0069 (D) 2.0000

Choose the symmetry operations for NH; molecule :
(A) E2C,0aC, (B) E2C;30, (©) E4C;,3C, (D) EGCa0,
NH, epes samsarear Sienw Gsweser ereney :

(A) E2C,aC (B E2¢3q, (O E46,3C ([ EGd

What is the selection rule for rotational Raman spectroscopy ?
(A) =1 (B) #*land +2  (C) =+2 (D) 0 1
spné grwer Hpwreaauiler Gsiea| il eretren?

(A) =1 (B) =land 2 (C) =2 (D) ©

Choose the delocalization energy for trans-1, 3-butadiene using Huckel Mo Theory :

(A) 04728 (B) 4472 B (C) 4at+t4dp (D) 4a+4.472 B
an&se Mo Qsrerensuflenilg rmnués-1, 3-[GLl L TenL eiailen 2 aTeTL_hIST 2pHmeane
Cabes® :

(A) 04728 (B) 4472 B (C) 4a+4p (D) 4a+4472 B

Third law of thermodynamics implies that :

(A)  Simt.0#0 (B) SiimT.0=0 (©) Spmra0>0 (@) Sjipmr0<0

Qeutiu Quissellwedlan epermreug elflufemiiy. :

(A)  Siimr,0#0 (B)  Siimr.0=0 (©)  Stmr,0>0 (D) Simr,0<0
SVK., MKU
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27.
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The chemical potential of it" component of a mixture is :

u-(2) i-(2)

@ " {on; T,P, nj ol 2 oy T, P, nj
o s (@) E=l=)

(C) - al_'li G P,Ilj (DJ Bni S l'li

R0 se@allgieTer i oueug smhfésrear Caufl siwssoreang :
o) a-(2)

@) = o T, P, nj ® 5 o T, P, nj
s ()

© on; G, P, nj % e on; S, T, nj

Role of the Teacher in child-centred Education :

(A) Motivate children to learn

(B) Provide a suitable environment

(C)  Become active member of the group

(D) All of these

GRhds mwws soedllie < Afufar L

(A) sDPYI&EES LresTauTsmaT 2A&EHILI([DESISD
B) =565 sdnEGR@® <6lsss

@) ©Gwelldar Qewaup 2 pulenras Sapsd
(D) Cuheadu SDEGF| LD

Joyful Learning is based on the principles of Pedagogy which are entirely based on :

(A) Activity-based learning (B) Child-centred learning

(C) Examination-centred learning (D) Both (A) and (B)

LEDESAYL 6t SHMD TG EREEMTL T 5095560 ams Cariur@samer
SlgLueLwrss Asrarg.

(A) Qowe anfl spHme (B) GYH®s @LWs SHDD

© Csitey ewwowis spme (D) (A) wpmd (B) Grawr@id
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128. Who is the founder of the Community School viewing the publication of ‘The Village
College’ ?
(A) Ivan Ilich (B) Henry Morris
(C) John Dewey ; (D) Mahatma Gandhi

'S Cag srCash’ eramm Qeueflen g6 i iLent udlé supgmuls uataflenwu wpger
wpaadla Hlyefweur :

(A) @euren @eadlE (B) Qamand Comflen

(C) grer Gull (D) wargwr sTH

129. The Sainik Schools are a system of schools in India Conceived in 1961 by :

(A) A.K. Krishna Menon (B) J.K. Krishna Menon

(C) S.XK. Krishna Menon (D) V.K. Krishna Menon

@pdwurele 1961 b yan@h wealls ueaelsd aam udrell ol s6r

BaumeLw s Sl 2 (heurang).

(A) AK. Smeyenr Cuoaren ®) K d@esenr Cosi

(©) SK. fmpegam Cuoeren (D) VK Smesen Coeran
; 14 iy

130. Which Institute is the producer of Educational Television Programme for young children
between 5 and 11 year age group ?

(A) Central Institute of Educational Technology, New Delhi

(B) Central Institute of Educational Technology, Karnataka

(C) Central Institute of Educational Technology, Andhra Pradesh
(D) Central Institute of Educational Technology, Tamil Nadu

5 auwgl pse 11 auwg euampuileoner @WHassErsE socls Qgrawssr &
flapsflsmer gurflsgn Bneueand erg?

(A) wsHw seoed FHuelwe Hlpeuand, Lg GLae

(B) wsHw soel HL U Hneuend, STHTLSD

(© wsHu swedl BIuaiiud Higeied, bSTAFGCssb
(D) wsdw swell B uawed Fineiand, sWIWLHTH

SVK, MKU
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132.

133.

134.
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Which one of the following nuclear reaction pfoduces stellar energy ? .
(A) fI-I+ ?H—-}% He + én+ energy
(B) 4 }H —)% He+ 2 ?e + energ;f
(© 22H-;He
O) ¥H > H+ jn
Spsam 2 L sm clmands @wALd®F pHpame e marsgas) 6Tg)?
(A) TH+ 3H-3He+ in+ <ypped
(B) 4 }I—I —93 He + 2'$e + <pHMeD
(© 22H—He

@) 2H-2u+In

Carbon-14 decays with emission of

(A) a-particle (B) P-particle

(C) ~-particle (D) All the above

smituen -14 AamgeuemLun Curg Qeiellaimd gser erg

(A) peur giser (B) USLlLrm gsér

Q) &rior gisar s (D) CupsmPlu Sioeaiss b

Which of the following radioisotope used in agriculture ? |

A) Yo (B) %Na () PPe s s (D)  32p
Sipsam. CrgCGur mGerCLriyseie org eleusmusSnG UaLESSILOHDS?
(A) 70 (B) %Na (C) Fe (D) 32p

The organometallic compound is used in OXO process :
(4) [HCo(CO)]l (B) [Pt(E)Cl]~ (O Mo(E9),NO) (D) [RhCl (PPhy)]
Spsar sl 2 Cars Cerwhisale ey <&Car paplie LwaLBEsLLREDS?
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135.

136.

137.

138.

[l

Wilkinson’s catalyst used in
(A) Reduction of alkenes

(B) Oxidation of alkenes

(C) Hydrogenation of alkenes
(D) Ozonolysis of alkenes

Aodersen efemanu,ée LuaUuBssULG S
(A) podaamer (H&s

B) podarsmer yseligCappd G
(€ ape&ansemer emapl rRe gHpn Celw
(D) syosasmer @GarGaraamssn G

The committee that suggested a system of multipurpose education at the secondary stage
was !

(A) Ramamurthi Committee (B) Tarachand Committee

(C) Hunters Committee (D) Hartog Committee

apss swels GuATd QLo serefle LaCpraE soedl oD
uflbgienrésiulLg?

(4) Qrmoepisd G (B) smTELS G

(©) apenia G (D) - OIS G(p

By the constitutional amendment of “Education’ was placed on the concurrent
list. F

(A) 1974 (B) 1975 (©) 1976 (D) 1977
SrdlwamnliLg L g Hmsssdlenig b an( ‘soedl’ GlaanésLl
uliguelley CersslurL gl

(A) 1974 ®) 1975 (C) 1976 (D) 1977

“No child below the age of 14 years shall be employed to work...” is mentioned in
of Indian constitution.

(A) Article 23 (B) Article 45

(C) Article 30 (D) Article 45 (A)

“14 QIUGEGLULL ahes Gphasmub Ll SIOTE6E Fal Tgl...." erernuig)
@b rflue sreand Gfefd GAMUGL LU Hererg).

(A) s_ufley 23 B) &L 09fey 45

© slLu9fley 30 (D) sCLubfley 45 (A)

SVK, MKL
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140.

141.
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NCERT in it's publication documents on, ‘Social, Moral and Spiritual values in Education
(1979)" has drawn up values to be inculcated through education.
(A) 90 (B) 84 . (C) 45 (D) 36
NCERT 1979 @y1b amga QeaiaflliL ‘soeflufd Fups @uss wHMD ands
eSlpomisar eremm LSlLGe afpwmser soafluflen aped CurdlésLiuLerd
GTE QUMTLINSSSI. |

(A) 90 (B) 84 (©) 45 (D) 36

Manpower planning is highly influenced by the pattern of

(A) Exportation (B) Importation

(C) Deportation (D) Migration

waflg saS S LflLe  aums Gewduryeamd oifls sréssdneearamdpg.
(4) gppwd Qsiizo (B) QnéEws Calgea

© Qmss @maigse (D) @b Quuirge

The nitration products of quinoline are :

(A) 8-nitroquinoline and 5-nitroquinoline

(B) 2 and 4-nitroquinoline

(C) 3 and 8-nitroquinoline

(D) 3 and 5-nitroquinoline

GelGamdatlen eanpl Cryr erpm efleneris QUIMmBL GeT 6rg) ?

(A) 8 apL Gy GeGanraien wHmD 5- bl Crr GelGanmaSan
(B) 2 wmmib 4 el Gy GeNGammeen

(C) 3womb 8 enpl Crr GelGameden

(D) 3 wpmb 5- evplCrr GelCarmaden
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142. The ozonolysis products of zingiberine are :

143.

144,

(A) acetaldehyde, acetic acid and laevulic acid
(B) acetone, laevulic acid and succinic acid

(C) acetone, malonic acid and succinic acid

(D) acetaldehyde, phthalic acid and succinic acid

SgpfGufaier @CsrCanpm eflenarts QLB ST 6rg)?

(&) @l Lrogman®, 2Alys wpgn Qoewds Siflan
®) =8 Cren, Qaayals wpnb s&dafiss siblab

(€) =8 Cren, wrGarais wHnd sEHallss b

(D) @fLrdgman(, ~Lgsredls whpn ssfanss Sdlan

Cholesterol contains a double bond and an “OH’ group at which position ?

(A) C-3andC-5 (B) C-5andC-3

(C) C-20andC=:3 (D) C-4andC-6

Qsredgrrdd @rieol Geariy wpgh OH Qsred aps sriuafid
2|GOOHGIETETE

(A) C-3 wpmbdC-5 (B) C-5uwpmid C-3

(©) C-20 wpgth C-3 (D) C-4wpgb C-6 : -

The radiation density of Black Body radiation calculated by Planck is : s

8y 8’
(A) p(v)= z: ®) P E0)
e _8m hy? dv ( hv
C) / " hy Dy WP
k5 c? e ABT—I o ehy B 1

smbAuT@ar sdiciéssatar Geamms sensdlL sffluss oLigdéstar LU
GrevLig) :

2

& 8mv
(A) e(v)= = ® o(v)= = E(v)
8§ h® dv h
= P{V\ . v =.__.v—
© e T, o e
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A ball (m=250g) is moving with a velocity of 3000 cm s~ 1. If its position is located with an
uncertainity of 400 nm, what will be the uncertainity in its velocity ?

(A) 6.627x107% ms~1 (B) 6.62x10~34 ms—1

(C) 30ms! (D) 9.1x10731 ms-1

26 UbS (m=250g) 3000 cm s~1. aremp Geuss e b&THg Ceramy madps.
Sis@ienL @b 400 nm, Hlevauferantoudies ADWHEMHETD, g6 Havaulaemino
Geustd wimg?

(A) 6.627x10~% ms~1 (B) 6.62x10~34 ms—1

(C) 30 ms~! (D) 91x10-31 ms~1

The general assembly of the UNO proclaimed 1974 as the
(A) World Integration Year (B) World Environment Year

(C) World Population Year (D) World Education Year

ueeTT® sal Ly B esef e QurgieenLs 1974 @y ib <2, T 1y 6B 68T
o 2ifleflsss).

(A) 2o QMmienLn 2 @nr(h) (B). 2@ &p}gjé@[,pd) & (h

(©) 2@s wssar Agrers <ed (D) 2 @8 s 24,687 (H)

Learner Controlled Instruction (LCI) was developed by

(A) Robert Mager (B) BF. Skinner

(C) Sydney L. Pressey (D) Norman A. Cowder

sHGUMT s_GUum’_ @ D955 wenm (LCI) GTEITLIGTITED & (HeUTSSLILIL L g).
(A) @oruil. Cuosir (B) B.F. evdlerami

(€ é&laf L. Qyeved) (D) BmriClwer A. Qser i
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148. In the 19" Century the research by proclaims that in Bengal state of the 5 lakh
population only 4 women were literates.
(A) Chatterji (B) Rockfeller
(C) Adiseshaiah (D) Adam Smith
19 =41b clr;n,r_i);prrah.nq.ab sleuiseflen <y ielanlyg eumisrear wrhlogder 5

149.

150.

Bl sb wsser Qsreasuda 4 Quanser L ECL solubley AupdlBhgear erem
MU LU [BeTerg).

(A) eriirg (B) pr&llueei

(C) =8Csenagwim (D) <=L b evifls

‘Book illusion’ is a figural illustration representing which one of the following :
(A) Split attention (B) Span of attention

(C) Division of attention (D) Fluctuation of attention

‘usss HNussTL A 2 ey eflenssliuL b GemaHeeaTeunpeT erEanet GHLUSTS
M DGI.

(A) uELly seuerld (B) souen &i&s

(C) seuer aUGLIL (D) &Seuer 2age

‘Principle of Hedonism’ in Emotional development is a concept that concentrates on :
(A) Pleasant (B) Maturity
(C) Pedagogy (D) Achievement

we@eupss auaniéfudn ‘GanL raflss CaTUTE Tamn SMHSSI THD DOWIOTES
Qaran® <iewdng?

(A) @eflew (B) pPi&d
(©) asplisse (penmaEer (D) <iemLay
SVK, MKU






